#

FE OB PR O EY BT Y g

[z

BRI 04 B B O A OV BT I 2

g5 -@

Fu iR - #RT

IS/ EBRI| No R OAT r & EMEE | Rhree
AR 1| TR &R FHERLEEL-2-1 2.03 2,03
bii 2 |t b — T H i mSET52—5 0.56 259
h 3 | AR—n T HE A MY 51 -6 057 216
BB | 4 |TICmERER TR MERET3— 10 e Ry
R |5 [HaAmEET TFREEEEET2—16 TR R
R | 6 |40 A AT EIUE T B BT 2 u‘r‘a 7
B |7 [HAmaEaasTy FRMEEAN2—15—14 = —
WRE | 8 | Yt FREEAMIZ—1—12 2:2 ::TT
pear | o [mamanig TR R A T3 — 24 P P
WA | 10 | i T TR fEAMET-11-T R 512
HERE | L0 KIS | FACmE N AT o
mERy | 12 | m s FAUE i @ RaT 3 047 .01
1552 13 | AR IER it Ze 2 — FHREEAMEI—16-8 o .35
PERR 14 | B e A g FIUHESPH3—4—1 o1 .46
BERE | 16 [AdZilE S N T2 — 8 —1 0.30 6.16
DA% 16 |icEie FEEhEREEIr2—o—2 T 13
e | 176 kmbe FIC @ Mg A1 —8—13 PP T
W |18 [t R — 1 X i (BT 2 — 5 i e
BERE | 19 |sgeer FAREESRR —5—14 0.58 8:76
BERY |20 [Whmae TREEEHEL—1—12 R T
1A 21 |75 b = 22 A FHEEMMB2-6-1 0.6 9.64
PERY 22 |Gz 4t - TCH E B RIT2 —20—3 T 550
R (23 |mMm=TA FREEEHEZ-3-9 0.53 10.43
BERE | 24 | TFACH X H#RT FHELBEMLI—2—1 o 12

™ |25 |HERSTH TBEHER2—3—6 1.31 12.43
ERY 26 | W= W i FREEHER1I-11-10 o 350
G e THCHE B2 —9—6 0.68 | 1358
LAY 28 | T 2 (5% P 9535 77 FCHE =022 0.28 13:86
e | 20 |0 ERr TSI T B (0T 6 — 7 051 | 14.37
L e TR —#Nr12 071 | 15.08
PERY 31| AL iR FCH EIERETL—9—9 T4 T
PR 32 | A A DR T R ST TAUHEERT2—7—4 050 16.71
WERY | 33 MR HSERT A D H\:iﬂ_lzﬁ"TZ*l‘lfl 0.85 17.56
BERY |34 [MnTiHaRRT FAMEMIT2—8—2 025 | 17.81

AT | a5 [H0kE AV 18— 1 0.88 | 18.69
BERY | 36 | JuBES< BRI FURELBMN3—6—9 T o7
BERE | 87 [ s AR FHRAEXHER1—-11—-10 N T

LAHET |8 |WLERZTH THARE LER2-3-6 0.62 90,61
BERY 39 | IR T B FHEEXMmEDIG2—8—-4 0.56 2117
WERE | 40 | M IR E T 1 TR E MR B2 11 ;
PERY 41 | P30 B 2 A AR THAEGMEZ—6—1 231 a5
R | 42 |m i R T 7 L — 3 — 4 zj; z;?:
TERE |43 |pe e p— FACME A2 —20—3 ’ '

119 | 23.35

BERE [ a4 | (A B

FEEEmI—2—1

S

FRHER - T (3

No R % T OE RMFa | ®Etre
1 |F (M E TREHRLEML—-2-1 1.00 1.00
2 [FRmigpT (T L BANT 3 — 10 TR T
3 [m s md TAMEWEFN2—16 P 2:02
4 | M0 A ASRTT M B TACHEA: A LAT2

5 [EREIHEL LT T A AR 2— 16— 14 L 2'7?
6 (&AM IR —4—12 ﬁ;: 22;
7 [ Am A D T B R A BT 3 — 24 0.50 3.88
8 |Fnsit sl aRmT T HIE(EARBI-11-7 A w00
o [k HE AR A 7l 1 T F R A [ T 0.2 4:51
10 |30 /B i T TACHE X b a3 07 1.08
11| ANy 22 FAERESAIAI - 168 TR PR
12 | B EREEAED FACHEAFEI 41 o 5.3
13 | T FRAEAMEE— 13 e
14 [ 25 40 T E A E T2 —12 o 6.10
15 [poA il TR R EIT2 8 — | 0.40 | 650
16 [iT e TFACH R HEIT2—-9—-2 T T
17 | B et FACHEM AR A1 —-8—13 0.58 7.73
18 |y T (AT L —5— 14 : '
19 |10 e FHEER AL 112 B
20 |76 i B =2 2 A i FIAEEMBZ—6—1 3: ::E_:
21 |l o — FAX H EAD A RAT2 — 20— 3 I o0
22 |EME=THA FIHEEMHI—3-9 0.69 10.09
93 | (L 1B B AR AT FAXLBML—2-1 a1 11.40
24 |5 S hER A TIRAEALLZ— 36 PP BT
25 |85 - Bdo A ) B FIHEEERLI-11-10 T

26 | LSBT T ILERZ—9-6 gzg :j:
R e R e s R BT
28 |08 DU T 7S | T IZ U RT6 — 7 0.71 14.05
B E TSR AL LA 12 =
30 | T B TR Th—9—9 ;2; ;::Z
M T e =
32 | BINT HERT A D T T2 — 14— 1 = 16:78
33 [ENT L30T EACH T2 =82 088 | 17.66
3 [PTiR A D TACRE AT 18— 1 e
35 [ LB <O MmN TAMRILEMS 69 0.82 13:95
36 |55 -t B A i FIEE®-ER1-11-10 0.62 19.58
37 [ L LA FRAE#ER2- 36 '
38 [WEtE TR FUHEMm§2— 84 Ei? ;233;:
30 |ER R T T FCHEMIEgZ 11 ' :
A0 | 76 R = A A TACEEEMEZ—6—1 g:: 2??2
A1 | R THREEEEL—3-4 21.83
a2 | e 5 I RIARAT2 — 20— 3 R R
1[I AT FHME AN —2-1 | e
TR R e R




#

S ERT 04 B R ML & I I iF BRT R T Rz

2]

(S BRI O 4 B e OV B 3 NV P B T R e i

O O * v B

NP H-ELRE
No HEBR T4 T fr i i Bk e
1 [T mEm FAEELERLI-—2—1 1.01 1.01
2 |74 o AT AfE FHREEEFHZ—6—1 0.26 127
3 |MtiE L — T i e {RAT2—20—3 T ST
4 /I—TH FREE AT L—4 T
5 |Aarie T B i T 2 — 8 — 1 0.50 3.14
6 |AMIT—TH FRMIEAEIT2—3 S T
7 [BANNEELHTFY THHEEEANT2—15—14 056 | 4%
B [AN—TH THOHR AN —9—3 A
0 a1 F T AN — 86 = 5:23
10 [# & (f i FHRBEAMHEZ—-1—8 0.22 a5
L1 [P m THREEPMAL-1—5 0.40 5.85
12 [BRET TN TA—bAI0xT | AR RT3 — 21 T
13 [/ Z T H TARH KA F T2 —3—4 0.99 766
14 |G [ Fi% T 4 TARHE G HL—3—4 e .08
B E: T-RH K =MiT2—10—10 e i
16 | P54 2 A AfE FHHENPHZ—6—1 0.26 9.03
17 [mlhE e o — T{X F A T2 — 20 — 3 ]
8 |EMH=T A T E A EH3—3-9 e o
19 [ e mE & TR LR —2—1 T T
20 [ = B 2 FAHEGELER2-3-6 Sl
21 [R5 FHEH L R2—16—23 S ot
20 |y I i ) e ) = o
23 | PRI B A TG = BT =T o
24 |WEWET T FIT TACHE - &NT12 0.32 14.28
25 | BAMT (AT LA 1 TR A8 1 el s
26 | TSI L2 R IR AT TR E = 722 T BT
27 |4l DU SE M 772 S — | TACH XM FENTe —7 0:23 ]5'68
28 | T IR HT TN RN —5 R BT
20 [ HURC (R THRERKBER2— 16— 23 T TR
30 [ RanA 1l TREKELRL-11-8 o B
31 [+ R L2 TR LER2-3-6 T 15.33
32 | Mo T S5 18 A TCH RS —7—7 = ls-az
33 |5 o 35 0 TACH AN S — 13— 2 0'43 5,10
3 (ALt — FICRI G2 — 179 : '
1 [FrmR TRAR 21 S0 e 198

PH-ELERME
FRR/BEARA! | No R OAFR fr f@ %o | Rt
BERR 1 [FCEERRT FHRERUEML—2—1 1.01 1.01
RS 2 |MthEaAE R FREEEHB2—6—1 0.6 127
EE 3 [mE L 2— % XA R ET 2 — 20— 3 T STl
i 4 [BiEsl A bl TG B SR 52— 5 e 391
e 5 [hHF A —I TG0 EA BT A1 —6 0 3.03
LR | 6 |40 — T H T AR 1T 1 —4 oAl 1,04
IERR 7 |Iadsidig AR B2 — 8 — 1 0.50 4.74
BERR | 8 [ABNTZTH TACHEAHN2 -3 T 548
B | 9 [SRIEExHTTY T A ANT2— 15— 14 =
L 10 [ Amr—TH TR s ART1—9—3 047 6.3l
BERE | 11 |#raiT—T B FMEHIEIT1—8—6 T .83
BHERE |12 | A=yt s— FLHEAA2Z—1—8 022 | 7.05
BERY | 13| EPihE (ks TN L —1-5 0.40 7.45
LRy 14 (55127 F9b 74— A0 02T - XA AT 3 — 21 o a7
ERR 15 [T =T A T M E /N2 —3—4 115 0.42
i | 16 W bl s — A BT 52— 5 0.51 996
BERY 17 |4 emy TACHERENT T —5—14 599 T0.95
B |18 |mEeh T FRHREHL—3—4 T [
BER [ 19[St T4 HE=MiNT2—10—10 T = T
P 20 |76 80 A = 2 AfH FHEEME2—6—1 0.26 1232
BERE | 21 [Willit e — TG R R EREIT2 203 oiEn T
R 22 M =TH T HEEmEE3—3-9 060 1354
PERY | 23 [FR{CHIE T TACHE LB —2—1 s TH8E
AR |24 |BERZTH TAAHEE ER2—-3—6 o 1561
HERE | 25 |HCRUE{E R THCREH S 52—-16—23 0.67 16.28
prEy | 26 [HayE TG E B4 —5—9 0.1 673
BERY 27 | 1Yy () A TACH X =07 0.53 17.25
BERE | 28 | ENET TR TG X — T2 0.32 17.67
ATRIET | 29 | FibkbR FAGHIE AT 18 —1 0.66 | 18.23
U Bl 30 [FFACE LS (RS T TG H X =022 T 18.74
BERE | 31 [HBEpUFRT T /8= X X PUFERT6 — 7 0.42 19.16
o R TG X UB b4 — 4 0.76 | 19.92
RS 33 | RGE R R P THHREBLR2—16—23 o 5073
TERR 34 |7k R Ao i TRHEEHEER1I—-11—-8 e 15
AFEW |35 (WL T H FRARELER2—3-6
- , 0.47 21.62
DERE | 36 |Hb T gk AR AR AT 0 TCH XS —7—7 PR e
BERYE | 37 | AR (R TR FMREMBEES—13—2 0.48 22.39
[ ] 38 |Higr Lo bz — TUEEEFEH2—17—9
0.88 23.27

BERE | 39 | TF(NE R

T EILBERL—2—1

O x* =2 B




b2

S BT D4 F R UL I NS BT T oig

12

BB OA PR OLEY I EETHF o

g hEiEE
i/ BER31 | No FRFOL T i 8 el g

BER 1 |9 ER FEHEHIT6—6—6 0.26 0.26
g [ 2 [WrETE THRRANTS— 426 0.25 | 051
BEak 3 [furmTE TAREERIT4—2—4 033 0.84
PR |4 [BWZTH FRARKHA2—4-1 015 | 103
BERR | 5 |HERTHISEFTA D T X2 —8—2 0'25 1‘28
B |6 [—@mmxEs T —#I6—1 BT
£ZHERE | 7 [Hik T #1181 0. 13 2.1 1
AR 8 [JLBrE<BHET FHHENBM3—6—9 0.43 2'59
g | o [LBT FREXABLL-2-2 081 | 543
e B L ey ] FAHEE A2 —6—1 0254 3:97
PR 11 | s — F14 X AR T2 — 20— 3 1.29 5.26
B 12 | A KRR FCH T 51 —-8—13 0.54 580
i 13 |t 4 s 27— T4 b il 52 — 5 0.30 6.10
HERY 14 |#H% 2 7BR T A A S 2 0.69 6.79
we | 15 | TAUMXABREL—3—12 0.55 7.34
RERY 16 |k HE JFUAR 75 (R 2238 1 3% TFAEH A EL—18 0,56 790
i 17 (M0 Bk FAEH A 2 — 10 0150 810
w8 |AE AT E T e —13 0.48 8.67
iy 19| 0 iy o TG E b T 3 0.65 9.32
w20V T Ao rom FACHECFANT 13 032 | 9.64
e 21 |2 e TG HE R HE—2 o1 10.35
wiy [ 22 AT FACMEEAN2 —8 136 | 171
TR 23 77 K6 HH AT FACHES A1 —1—11 0 .ol
BERY |24 [T H FCHEA I E2—1—9 T 032 12.33
BERE | 25 |6 /KR SORE BB 5 0.74 | 13.07
i 26 [P kA 2 — TG e 52— 5 057 13.64
gERE |27 [pyz—a TAGH M BT —6 1.08 14.72
PERE | 28 [ oA AR TR 2 —6—1 0.26 14.98
HERE | 20 W o — FHCH K R bR 2 — 20— 3 0:7 g T
BERE | 30 [LEEF FABKILBHL—4—5 039 | 16.12
BERY | 31 [T AT FACHEILEH1-2—-1 1.06 17.18
BEE | 32 LSO TR B2 —9—6 0'48 T
ZFIEW | 33 [T TAHX =075 —10 R D
BERE | 34 | A TACHL 3074 —40 030 | 18.09
BERY | 35 |B0T 3R A 0 TALH T —8-8 0.21 | 18.30

pERe |36 [T —TH TACHEHNT2 -3
! A 0.20 18.50

BER% | 37 [#mT9T TR IS -3
0.98 19.48

BERY 38 |41

FHEENT6—6—6

PO - 5 AR
No R OL T i & EAE = S S =
1 | TFHREBEXEEAT6—6—6 0.29 0.29
2 | R LA (ZA-v2Am) FHAEHET5—4—6 e 0.61
3 (gurm T B FHRAERXRBIT4—2—4 0'33 0'94
L B —T8 T X HIT2—4—1 BT
5 |BHTHAERT A D T RN 2 — 14— 1 0-25 1’38
6 |HNTHHARRT FAUBIIT2—8—2 0.70 2.08
7 | WA TARER #0161 0'13 2.21
8 BT LA 2 TACHE 18— 1 0.43 2~69
9 (B2t TR XU —6—9 = 3'53
10 (LB T FREREILEAEl —2—-2 0-54 4.07
o T T TRER A2 —6—1 =
12 [kt — TACHE A i (EIr2—20—3 0.59 4'.92
13 |25 1 Y S {1 TR AN )3 —22 0'44 5'36
14 | A K T R A T 5 1 — 8 — 13 0’52 5'33
15 | = #54 b Aif THREE A B SETE2—-3-10 0.23 ﬁ'lﬁ
16 [ A T (X FH R B 2 e o
17 [RAER D AL, | TARECA L — 18 03 | 77
18 | 75 1 3 7 FARFREA L 111 0'35 8'09
19 [#hpkm =T H TREESAE2—1—9 : :
: e d 0.30 8.39
20 [{5 2 AR A1 -5
; 3 0.47 8.86
21 | Ak TG A 5T 51 —6 1.08 9.94
22 | P =2 A AR T E K A2 — 6— 1 0'25 10 =
23 | M £ — TFe B B ART2 — 20— 3 e R
TS TR E R IR —4—5 R
25 | % E P T HEEIE#HEL—2—1 1—05 12:10
26 | JLEEESEA TRERBH2 96 ol 18 12'88
27 | BN {5 LA B TACHE =H&NT5—10 - ;
0.13 13.01
28 | — T AZ 2 5, FACH X —FNT4—40
. 0.30 13.31
29 |FnT H T A R TACH X1 —8—8
0.21 13.52
30 |HNT — T H TCHE#IT2—-3
0.20 13.72
31 (g T A T H XN 3—3
T TR M KN — 66 0.98 14.70

R X e B

T % © &




